BALL BEARING UNITS -PILLOW CASTING HOUSING TYPE-

18 [ R TR

—$5EMN R (MH2LA) —

WER AN EtEEM R ER MAHER, AR RIR~200°CRIM L,

PDRHT (fii#42)

2—M1

BALL BEARING UNITS -PILLOW CASTING HOUSING TYPE-

& R TR

—$SEMA (S/08) —

W4FE : /OB EEPDR (JISATBUCP200EY) B S,

PDRM (& DE)

2—Mi

A
¥EEJS B 1558 _ BRTH M#E
JS B 1559 OEERE @ Fc200
SRR ROBRAR AR B A © H7 (S3PARE ) @ [0 suJ2
EFRE © BB ~+2000C [o T £ M wE
@ E R R E G OIIAE, R RS LS E, JONTIETE] [ Scm435
B EXHETE (kN) flsiol: 5+ -
— 5 JSAB| H | L L1t | A|di|d|t | H |B|S | cr | Cor - EERE ] (@)
vpe @) | g | M (N-om) | BREEEA(N)
12| UCP201 650
15| UCP202 | 30.2 62 390 640 630
127 | 95 19 15 31 [127] 128 | 6.6
17| UCP203 38 13 620
M6x0.75
20 | UCP204 | 33.3 65 1280 650
PDRHT 25| UCP205 | 36.5 | 140 | 105 16 16 | 70 | 341|143 | 14 7.9 490 1400 790
30 | UCP206 | 42.9 | 165 | 121 @ | 2 18 | 83 |381159| 196 | 113 1960 1260
35| UCP207 | 47.6 | 167 | 127 7 | 1o 94 [429[175| 259 | 15.4 2590 1590
40| UCP208 | 49.2 | 184 | 137 5 25 100 | 49.2 293 | 179 | M8xi1 1180 2930 1920
45| UCP209 | 54 | 190 | 146 22 20 (108 (492 19 | 33 20.5 3300 2190
50 | UCP210 | 57.2 | 206 | 159 | 60 | 25 | 20 | 22 | 114 | 51.6 355 | 232 |Mi0Xx1.25| 2350 3550 2590

Order B
ETREHI)

PDRHT12

(D EMEIEEE

= [ ETI] FETRETER
BERES TE XE
B B 1~50 51~

HER = SHASfE

2020-5

OBBRPEAHER TR,

(®kgf=Nx0.101972

A
¥EREJS B 1558 [k G [MEZE=]
JS B 1559 OEERE @ Fc200
SRR BB I EL S © HT (30RRCEY) @#k [ su.2
fERRE | —15~+100C OgpE [MEZTE]
@RI R T OIAL, E RS E LB E, JONSETT] ([ ScM435
B EXEEFE (kN) 1FiEE# -
JSAH| H | L L1t |A |di|d|t | H|B]|S 2
Type |D CL Cg: M | RERAE i) (g)
(BhRE) | (BRRE) (N - cm) | &%&EEA (N)
25| UCP305 | 45 | 175 | 132 | 45 16 | 84 | 38 | 15 | 213 | 109 |M6x0.75| 390 1065 1600
20
30| UCP306 | 50 | 180 | 140 | 50 19 | 94 | 43 | 17 | 26.8 15 | M6X0.75 | 390 1340 1900
17
35| UCP307 | 56 | 210 | 160 | 56 | 25 21 | 105 | 48 335 | 192 | M8x1 830 1675 2700
PDRM 19
40| UCP308 | 60 | 220 | 170 | 60 | 27 23 (116 | 52 405 | 239 |M10X1.25| 1620 2025 3120
45| UCP309 | 67 | 245|190 | 67 | 30 25 (128 | 57 515 | 295 |M10X1.25| 1620 2575 4130
20 22
50| UCP310 | 75 | 275|212 | 75 | 35 28 | 143 | 61 61.5 | 382 |M12x15| 2790 3075 5680
(®kgf=Nx0.101972
S
STHE
PDRM25
W)z (8]0 v ]
EETI ] ]
HEES — om | xB
8 B 1~50 51~
HEE — SERE
OBBEPRABRETHRE,

g
BHERED

2020-6



